Potencias de 10 (A)

Calcule los siguientes productos y cocientes.

41 x 1000

11 x 100

48 x 10

58 x 1000

89 =-1000

62 =100

88 = 1000

8 x 1000

62100

25 x 10

99 =100

88 x 10

30100

26 + 1000

21 x 10

8110

65 = 1000

751000

91 x 10

57 x 1000
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Potencias de 10 (A) Respuestas

Calcule los siguientes productos y cocientes.

41 x 1000
41.000

11 x 100
1.100

48 x 10
480

58 x 1000
58.000
89 = 1000
0,089
62 =100
0,62
88 = 1000
0,088

8 x 1000
8.000
62 =100
0,62
25 % 10
250

99 =100
0,99
88 x 10
880
30=100
0,3
26 = 1000
0,026
21 x 10
210
81 =10
8,1
65 = 1000
0,065
75 = 1000
0,075
91 x 10
910

57 x 1000
57.000
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